RD Sharma Class 10 Solutions Chapter 15 Areas
Related to Circles MCQS

Question 1.

If the circumference and the area of a circle are numerically equal, then diameter of
the circle is

(a) m/2

(b) 2m

(c)2

(d)4

Solution:

Let r be the radius of the circle, then Circumference = 2mr
and area = mr?

But 21tr= 12

~2r=r?

=>r=2

Diameter =2r=2x2 =4 (d)

Question 2.

If the difference between the circum-ference and radius of a circle is 37 cm., then
using m = 227 the circumference (in cm) of the circle is

(a) 154

(b) 44

(c)14

(d) 7 [CBSE 2013]

Solution:

Difference between circumference and radius‘efa circle = 37 cm

oo 2nr-r=37

37
(21— 1) = 37 3§ AN,

2n—1

37 37

=T =
2 x -%-2-—1 2 -1
7 )
3T %7
=37 = 7 cm -
. Circumference = 37 + 7 = 44 cm (b)
Question 3.

A wire can be bent in the form of a circle of radius 56 cm. If it is bent in the form of
a square, then its area will be

(a) 3520 cm?

(b) 6400 cm?

(c) 7744 cm?

(d) 8800 cm?



Solution:

Radius of a circular wire (r) = 56 cm
Circumference = 2mr = 2 x 227 x 56 cm = 352 cm
Now perimeter of square = 352 cm

352

. Side of square = e 88 cm

and area of square = (side)* = (88)?
= 7744 cm? (c)

Question 4.

If a wire is bent into the shape of a square, then the area of the square is 81 cm2.
When wire is bent into a semicircular shape, then the area of the semi-circle will be
(a) 22 cm?

(b) 44 cm?

(c) 77 cm?

(d) 154 cm?

Solution:

Area of a square wire = 81 cm?

= Side of square = Area-———V =81--v cm =9 cm ard per.in eret of square =4a
=4x9=36cm

Perimeter of semicircular wire whose bent = 36 cm

Let r be the radius, then

22
2r+nr=36=r {2*‘""'} =36

7
(g}_ 36xT
= |7 =36=r= 36 =J.em
. 1
o Areaufsemlmrcle_=5nﬂ
=lx-—x(?’}2cm2
2 7 5
s e g :
=i Py x7TxT7=77cm? (c)
Question 5.

A circular park has a path of uniform width around it. The difference between the
outer and inner circumferences of the circular path is 132 m. Its width is
(@)20m

(b)21m

(c)22m



(d)24m

Solution:

Let R and r be the radii of the outer and inner circles of the park, then 2nR — 2nr =
132

2x22
= 2n(R-rN=132= T (R-7r)=132

132x7
2x22

~. Width of path =21 m (b)

= R-r=

Question 6.

The radius of a wheel is 0.25 m. The number of revolutions it will make to travel a
distance of 11 km will be

(a) 2800

(b) 4000

(c) 5500

(d) 7000

Solution:

Radius of the wheel (r) =0.25m =25cm

Circumference of the wheel

2% 22X %25
=Jntr= —7 cnj
I
_ 1100
T .
". To cover a distance of 11 kim, the revolutions

1100

will be = (11 x 1000 % 100) + —

_ 11x1000x100x 7 - 7000 (d

- 1100 - ()

Question 7.

The ratio of the outer and inner perimeters of a circular path is 23 : 22. If the path is
5 metres wide, the diameter of the inner circle is

(@) 55 m

(b) 110 m

(c)220 m

(d)230m



Solution:

Ratio in the outer and inner perimeter of a circular path = 23 : 22
Width of path=5m

Let R and r be the radii of outer and inner path then R-r=5m ....(i)

2rR 23 K =23

e "B, "
23
= 22R=23r=R= 221’
~. From (i)
23 23
hels -1| =
22 .i"'—| = 5 =r (22 ) S
[lJ -
=7 5=:rr §5x22=110m
. Diameter of inner circle =2r=2 x 110
=220 m (c)
Question 8.

The circumference of a circle is 100 cm. The side of a square inscribed in the circle
is

100
(a) 50,/2 cm (b) —, cm
50 10042
(©) ‘F (@) ——cm
Solutlon.

Circumference of a circle (¢) = 100 cm



Diagonal of square which is inscribed in the circle

, c 100 50
. Radius (r) = T T T

. Diagonal ufﬁsquare which is inscribed in the
circle

_ Diagonal 100
Side of square = T = E‘;

__100xv2  100x42 _ 50x42 A
V2 x[2xn 2n T '

Question 9.

The area of the incircle of an equilateral triangle of side 42 cm is :
(@) 2273 cm?

(b) 231 cm?

(c) 462 cm?

(d) 924 cm?

Solution:

Side of an equilateral triangle (a) = 42 cm

Radius of inscribed circle = 13 x altitude

. Area of the incircle = /2
22

g COR

22
=—?->c?'><7><3cm1=462cml(c)



Question 10.

The area of incircle of an equilateral triangle is 154 cm2. The perimeter of the
triangle is

(@) 71.5cm

(b) 71.7 cm

(c)72.3cm

(d)72.7 cm

Solution:

Area of incircle of an equilateral triangle = 154 cm?

154 154>c?'
. Radius = 9 =7 cm

Let a be the side of the t:riangle, then

altitude = 73 a

\/5 21x2

42
.-E—a=3><r=3><?:=>a= \E =J§

Perimeter = 3 x side = 3a =3 x 14\@

=42./3 cm
= 42 x (1.73) = 72.66 cin
=727 cm (d)

Question 11.

The area of the largest triangle that can be inscribed in a semi-circle of radiusrr. is
(@r?

(b)2r2

(c)re

(d) 2r3

Solution:

The largest triangle inscribed in a semi-circle of radius r, can be AABC as shown in



the figure, whose base = AB = 2r
C

»

r

A -
0

and altitude OC =r

1
Area of triangle = 3 base x altitude

X 2rxp=p? (a)

Question 12.

The perimeter of a triangle is 30 cm and the circumference of its'incircle is 88 cm.
The area of the triangle is

(a) 70 cm?

(b) 140 cm?

(c) 210 cm?

(d) 420 cm?

Solution:

The perimeter of a triangle = 30 cm

and circumference of its incircle = 88 cm

c . B8x7
. Radius of the incircle =—== =
ius of the incircle % 3% 14 cm
: . 3
. Altitude of the triangle = 14 x 1= 42 ¢cm
. . 30
Base (side) of the triangle = 3= 10 cm
, .
. Area= ) base x altitude
- 1 *-
—‘2"3"103'(42=210c1111 (c)



Question 13.

The area of a circle is 220 cm?, the area of a square inscribed in it is
(a) 49 cm?

(b) 70 cm?

(c) 140 cm?

(d) 150 cm?

Solution:

Area of a circle = 220 cm?

. Radius () = J—I— . 1[%’2
o

= J70 em

Diagonal of square = diameter of the circle
=2xr=2x 70 cm

; 2 2
Diagonal 24/70
. Areaofsquare= | —F7=—| =|—F
V2 V2
a8 10 140 cm?
= = cm
2 (c)
Question 14.
If the circumference of a circle increases from 4m to 8m, then its area is
(a) halved
(b) doubled
(c) tripled
(d) quadrupled

Solution:



In first case circumference of a circle = 41t

; c 4n
. Radius () = B o 2
Area=mr=mn x (2)* = 4x
In second case, ¢ = 8%

8
. Radius (R) = 3% . E":T? -

Then area = tR? = 1t x (4)2 = 16%
". 167w is fourtimes of 4n
. Area will be quadrupled

Question 15.

If the radius of a circle is diminished by 10%, then its area is diminished by
(@) 10%

(b) 19%

(c) 20%

(d) 36%

Solution:

Let in first case radius of a circle =r

Then area =mr?

' 100 -
In second case, radius = rx( 1{})
100
rx 90 9
— = —F
100 10
20 O
Then area = 1 10 = 10011:
- . 8L, 100-81
Difference = nr* - 100“ = 100 T
19
= 100™

.. It is diminished by 19% (b)



Question 16.

If the area of a square is same as the area of a circle, then the ratio of their
perimeter, in terms of 7t, is

(@) ®: 43 ®) 2: Jr
(©)3:x d) n: 2

Solution:

Let side of square = a
Perimeter =4 a

Then area = a2

=~ Area of circle = a2

Rad; Area a’ a
. Radius = s ) o B SR
T \’n Jn

and circumference = 2nr

a
= I X "J':
=2a./n

- Ratio=4a:2,/g

=2: Jn _ ()

Question 17.

The area of the largest triangle that can be inscribed in a semi-circle of radius r is
(@) 2r

(b) r?

(c)r

@ rv

Solution:



Radius of semicircule =r

Prueccassssmsssmsrmma

A

o

The base of the largest triangle
(b)=2r
and height (h)=r

\ 1
. Area= 2 base x height

=';"J':ZL1*'>-<:'*=1'*2 (b)

Question 18.

The ratio of the areas of a circle and an equilateral triangle whose diameter and a
side are respectively equal, is

@m:2-V
(b)m:3-v
(c) 3-vV'm

d)2-vV:n
Solution:

Let side of equilateral triangle = a
Then area = 3vV4 a2



Diameter of circle = a

e
' I.IS—2

2

Ratio of area of circle and triangle

2 2
a -
and area=mr =7 (“) -

=T: 43 : (e}
Question 19.
If the sum of the areas of two circles with radii r, and r, is equal to the area of a
circle of radius r, then r;: + 2
(a) >r
(b)=r2
(c)<r
(d) None of these
Solution:
Sum of area of two circles with radii r; and r;

=nrl+ari=x(r’+)
and area of a circle with radius » = nr?
. 2 N —
R TARD &
s s (b)

Question 20.

If the perimeter of a semi-circular protractor is 36 cm, then its diameter is
(@) 10cm

(b) 12cm

(c)14cm

(d) 16 cm

Solution:

Perimeter of a semicircle = 36 cm



Let d be its diameter, then

Perimeter = ? +d

i % +d=136

Sl (22 +1]—
d > =36=d 7% 2 = 36

[ﬁ]_ _36x7
= d 7 —36=¢d+——18 =14cm (c)

Question 21.
The perimeter of the sector OAB shown in the fiugre, is

- 64

(a) 3 °m (b) 26 cm
64
(c) S m (d) 19 cm

Solution:
Radius of sector of 60° =7 cm



~ Perimeter=arc AB+2r

sl +2x7
= a1 m— x
2nr 360

2 2 7 1+Tl«1
=2 X — XTX =
7 6

—E+14hﬁi (a)
—3 —3{1111

Question 22.

If the perimeter of a sector of a circle of radius 6.5 cm is 29 cm, then its area is
(a) 58 cm.

(b) 52 cm.

(c) 25 cm.

(d) 56 cm.

Solution:

Radius of a sector = 6.5 cm



and perimeter =29 cm

S 2Rr % 360° +2r=29
= 2 X x(6.5) x 360° +2x65=29
.13 D + 13 =29
W — ]
™7 3600
=~_13n: X 3600 - 29-13=16
o 16 |
" 360° 13 -
— — 2y —
Now area = mr? x 360° n (6.5)* X 137
- [From (#)]
42.25x16 X
= =5 =325X16=52emt" (b)
Question 23.

If the area of a sector of a circle bounded by an arc of length 5K cm is equal to 20K
cm?, then its radius is

(@) 12cm

(b) 16 cm

(c)8cm

(d)10cm

Solution:

Let r be the radius, then



Length of the arc of sector of 6 angle = 5nt

6

_=>2n:rm=5n

0 3 ;
“ 3600 - 2 swali)

and area of sector of 6 angle = 20w cm’

4]
'KHWEZGE

£
360°

,
= rr =20=rx 5=2U

360°

20x2
5
~. Radius = 8 cm )

= r=

Question 24.

The area of the circle that can be inscribed in a square of side 10 cm is
(a) 40Tt cm?

(b) 30Tt cm?

(c) 100 cm?

(d) 251 cm?

Solution:

Side of square =10 cm



. Diameter of the inscribed circle = 10 cm

10 cm

1
and radius (r) = e 5 cm

Area=mr =1 x (5) = 257 cm?

Question 25.

If the difference between the circumference

(a) 154 cm?

(b) 160 cm?

(c) 200 cm?

(d) 150 cm?

Solution:

Let r be the radius of a circle then circum-ference =2mnr
~o2mr-r =37

Now ama of the cicle = ntr?

22
== x 7 x7=154 cm? (a)

Question 26.

The area of a circular path of uniform width h surrounding a circular region of
radiusris

@m@r+h)r

(b)Tt(2r+h) h

(c)m(h+n)r



(dn(h+r)A
Solution:
Let r be the radius of inner circle h is the width of circular path

h

~. QOuter radius =r + h
-. Area of the path =&t [(r + h)? - 1]
=n [P+ h+2rh-1r]
= (h* + 2rh) = =h (h + 2r) (b)

Question 27.

If AB is a chord of length 53—+ cm of a circle with centre 0 ‘and radius 5 cm, then
area of sector OAB is

L AR

(a) 3 cm (b) 3 cm
25n

(¢) 25w cm? (d) 3 cm?

Solution:

Radius of the circle (r) =5 cm
AB is a chord = 53—V



Draw OM 1 AB which bisects the chord AB at M

A
0

M

AWB

5
AM=MB=EJ§ _

Let ZAOM =86

AM 53 3

sin Q= =—— = =
OA  2x5 2

Soo=60°
' ZAOB =20=2 x 60° = 120°

Now area of sector AOB = w2 x

360°
B — 120°
TN X J00 -
1 25n ,
=2SRK§=Tcm (d)
Question 28.

The area of a circle whose area and circumference are numerically equal, is
(a) 2m sq. units

(b) 41t sq. units

(c) 6m sq. units

(d) 81t sq. units

Solution:

Let radius of the circle =r

=~ Area = 1ur?



and circumferenqe = 21r
LR =2nr=r=2
. Area =’ = 1t (2)* = 47 sq. units (b)

Question 29.

If diameter of a circle is increased by 40%, then its area increases by
(@) 96%

(b) 40%

(c) 80%

(d) 48%

Solution:

Let the diameter of a circle in first case = 2r

Thenradius =r

Area = mur?
By increasing 40% of diameter or radius,
: i m rx140  7r
new radius = T
e (?_] _8
. W area yL 5 = 2 5 T
, 49
. Difference of areas = Enrz-— e
24
25
Percentage i 24nr” 100
€ 1mcrease = X
S 25nr®
= 96% (a)

Question 30.

In the figure, the shaded area is
(@) 50 (- 2) cm?

(b) 25 (T - 2) cm?

(c) 25 (m + 2) cm?

(d) 5 (m-2)cm?



Solution:
In the figure, ZAOB = 90°
and radius of the circle =10 cm

. Area of shaded portion
= Area of quadrant AOB — area of AAOB

1 . 1.
4™ "3

i

1
= = - 2
4r1(“n: 2) cm

1
=0 x 10 x 10 (m — 2) cm?

=25 (T - 2) cm? )

Question 31.
In the figure, the area of the segment PAQ is



2 A 2

@7 @+ B T @-2)
ﬂl | ﬂz
(©) & (-1 d) 7 (x+1)

Solution:
a is the radius of the circle arc PAQ subtends angle 90° at the ¢entre
= Area of segment PAQ

= Area of quadrant — area of AOPQ |

1 . 1 1 1 12
—— | — — o — — — il
411'{1 Zﬂ a 4'11:(1 zﬂ
_.l 2 9 _az
=72@®-2)= 5 @-2) (b)
Question 32.

In the figure, the area of segment ACB is



D (D

2
(c) ["}*‘E} r (d) None of these

W
b3

C
Solution:

ris the radius of the circle and arc ACB subtends angle of 120° at the centre
Area of segment ACB =r

(0 —sinEcosE)
=360 ""2%2) 7

p

I

Rx% — sin 60° cosﬁG“J 2

.

)59
P= 2

— e — — i —

3 2 2 3 4 (d)

Question 33.

If the area of a sector of a circle bounded by an arc of length 5t cm is equal to 20rc
cm?, then the radius of the circle is

(@)12cm

(b) 16 cm

(c)8cm

(d)10cm

Solution:

Length of arc = 5t cm

area of sector = 201 cm?



Let the angle at the centre be 6

| then, 2mr x 360° 51
0 S S5 :
X = = - :
"T3600 T 2 2 i)
Area= y
~ T 3600
- 360° 20m
. 3600 20m
. 20m %2
rx - =20m=r=
i Sn
=r=8
. Radius of the circle =8 cm (¢)
Question 34.
In the figure, the ratio of the areas of two sectors S, and S, is
(@)5:2
(b)3:5
(c)5:3
(d)4:5
120°
-, Area nf;ect_nr S, =7nr x 360°
150°

and area of sector S, = ntr? X 360°

Solution:
Let r be the radius of the circle



120° 150°

Ra_tm=1tr’x 360° L U2 % 360°
=120°: 150°
=4:5 (d)
B
C 1 A
Question 35.

If the area of a sector of a circle is 518 of the area of the circle; then the sector
angle is equal to

(a) 60°

(b) 90°

(c) 100°

(d) 120°

Solution:

Area of sector of a circle = 518 x area of circle

Let 6 be its angle at the centre and r be radius

f 5
Then, ntr* x 360° 'l-gm-l
Y 0= 2, x 360° = 100°
360° 18 0 18 = (©)
Question 36.

If the area of a sector of a circle is 720 of the area of the circle, then the sector
angel is equal to

(a) 110°

(b) 130°

(c) 100°

(d) 126°

Solution:

Area of sector of a circle = 720 of the area of the circle



Let r be the radius and 6 be its angle at the centre
s

o 7
R 17 360° ~ 20 X F
B o ? e-—-_?_- 0 — L]
= 360° 20 20 ~ et ()

Question 37.
In the figure, if ABC is an equﬂateral triangle, then shaded area is equal to?

nf :rJ_

L o {50
@13 4 ® (372

,
© % % A @ (24

Solution:
AABC is an equilateral triangle inscribed in a circle with centre O and radius r



BO and CO are joined

A

s LBOC=2ZBAC =2 x 60° = 120°

Area of shaded portion
B . 0 B]
=|n —SIN—COS—| ;2
| 360° 2 2
- w—sinﬁﬂ“ cos60°| ;2
_ 360°
-n_ SO -JI__JE
TR g @
Question 38.

In the figure, the ara of the shaded region is
(a) 3mcm?
(b) 6Tt cM?
(c) 9 cm?
(d) 7t cm?

| &

B
Solution:



In the figure, 2B = 2C =90°, 2D = 60?
C

s
B

s~ £A=360° - (90° + 90° + 60°) = 360° — 240° = 120°
Radius of the sector =3 cm
~Area of shaded portion

=nr2>:

R
360° " 360°

1
=9n x 3 = 3n cm? (a)

Question 39.

If the perimeter of a circle is equal to that of a square, then the ratio of their areas is
(@) 13:22

(b) 14 :11

(c)22:13

(d)11:14

Solution:

Let side of square = a units

~ Area = a2 sq. units

and perimeter = 4a units

Now perimeter of circle = 4a units



_ Perimeter 4a
. Radius = =
2K o 2W

28
_JI

2a2
and area =Tr'=1n ?

nxda’ 4q° :
= 5 = sq. units
n ¥i !
7 x 4a* 14
= =—————— —a1
22 11
. Ratio in the areas of circle and square
14 :
FTLAERN, Ry . b
11 at:a*=14:11 (b)
Question 40.

The radius of a circle is 20 cm. It is divided into four parts of equal area by
drawing three concentric circles inside it.:Then, the radius of the largest of
three concentric circles drawn is

(a) 10./5 cm  (b).10./3 e¢m
(c) 10cm (d) 10,/2 cm
Solution:

Radius of circle (R) =20 cm



- Area = 1P =1 (20)’ cm?
= 4001 cm?

400m
4

. Area of each part =

= 100n cm?
Let r be the radius of the larger circle
Then area =1t (R* - ) :
. w202 -)=100n = 400 - = 100
= r’ 400 — 100 =300

= r=.300 = 10.,]5 cm (b)

Question 41.
The area of a sector whose perimeter is four times its radius r units, is
2

(a) ’? sq. units  (b) 2 sq. units

2
¥
(¢) ¥ sq. units - (d) 5 54 units
Solution:

Radius of sector =r
Perimeter = 4r



and length of arc = 4r — 2r=2r

. Let angle at the centre = 6

0
Then, 2ntr = 3600 2r
X 2 = ] i

= X T = : ()

Now area = mr? x s =,.2(1r>< )

360° 360°

=rx1 _ [From (i)}

=7 ()
Question 42.

If a chord of a circle of radius 28 cm makes an angle of 90° at the centre, then the
area of the major segment is

(a) 392 cm?

(b) 1456 cm?

(c) 1848 cm?

(d) 2240 cm?

Solution:

A chord AB makes an angle of 90° at the centre

Radius of the circle = 28 cm



Area of minor segment ACB
0

= r? X 3600 Area of AAOB

e A OA x OB
F=-- - e, -

7 3600 T 2

1 = r
S - =2

&
=% X 2—?2— ><28><28-% X 28 x 28
=616 - 392
= 224 cm?

. Area of the major segment ADB

= Area of circle — area of minor segment
22
=qur -224 = T x 28 x 28

= 2464 - 224
= 2240 sq. cm? (d)



Question 43.
If the area of a circle inscribed in an equilateral triangle is 48nt square units, then
perimeter of the trianlge is
(a) 173-v units
(b) 36 units
(c) 72 units
(d) 483-V units
Solution:
Area of a circle inscribed in an equilateral triangle = 481 sq. units
A

Area 48n
. Radius of the circle = 2 = T

= m units = 4 ./3 'units

- OP 1 BCand £B = 60°
. ZOBP = 30"

OP . 43
Now tan 6 = BP =>tan 30 = *ﬁ*})‘

= % = %Jg- = BP 4,3 x /3 =12 units
.. BC=2xBP=2x12=24 units
. Perimeter of AABC =3 X side
=3 x 24 = 72 units (c)
Question 44.
The hour hand of a clock is 6 cm long. The area swept by it between 11.20 am and

11.55amis
(a) 2.75 cm?



(b) 5.5 cm?

(c) 11 cm?

(d) 10 cm?

Solution:

Length of hour hand of a clock (r) = 6 cm
Time 11.20 am to 11.55 am = 35 minutes

B12
1A

3
6 :
Centr ] L 35
. Cen = — = — mi
SaBle = g 5 [p min.
.. The hour hand will move 2 x 6° = -
12 2
*. Area of section ACR = 72 3
L _— K —
360°
22 A 35
=— Xf X _—
7 w360 x 2™
=3 em?*=55cm?* (b)
Question 45.

ABCD is a square of side 4 cm. If ? is a point in the interior of the square such that
ACED is equilateral, then area of AACEis

@) 2 (3-V - 1) cm?
(b) 4 (3-V -1) cm?
(c) 6(3-V-1)em?
(d) 8(3-V-1)cm?
Solution:

Side of square ABCD =4 cm
and side of equilateral ACED =4 cm



D- N 4cm C

4 cmf 3
4 cm

4cm
oWl

A M ‘ B
Area of square = (side)* =4 x 4 = 15 cm?

i

and area of ACED = TS (side)?

NG

e x4x4=4[7 cm

Join AE, AB and AC and draw EL | ‘BG,
EM 1 ABandEN | CD
Now area of AABC

=';'.AD><IBC=%><4X4=BGm‘



4
In ABEC, EL = 5 =2 ( Sin30“=~5

1
. area ABEC = 5 x BC x EL
1
=~ X4 x2=4cm?

2
and in AAEB | EM =MN -EN
(4-2\/?7) cm

1 I
* areaAAEB= - ABXEM=— x4 (4-2,3)

=4 (2—1/§)=8—4\/Z cm?

. area AAEC = area AABC - (area AAEB +
area ABEC)

=8 - (3—4\/§+4)=8—8—‘4+4J§.

=4J_—:4=4(\/§—1)cm2 -. (b)

Question 46.

If the area of a circle is equal to the sum of the areas of two circles of diameters 10
cm and 24 cm, then diameter of the larger circle (in cm) is

(a) 34

(b) 26

(c)17

(d)14



Solution:

0
Area of first circle of radius = ? =5¢cm

=nrr=n % (5 cm? = 251 cm?

24

and area of second circle of radius = Ty =

12 cm = 1t (12)2 cm? = 14471 cm?
. Total area’= (25x + 144m) ¢in? = 1697 cm?
. Area of larger circle = 1697 cm?

. fArea _ |169m
. Radius = —— — J169

=13 cm
. Diameter = 2 x radius =2 x 13 = 26 ¢m?
(b)
Question 47.

If m is taken as 22/7, the-distance (in metres) covered by a wheel of diameter 35
cm, in one revolution, is (a) 2.2

(b) 1.1

(b) 9.625

(d) 96.25 [CBSE 2013}

Solution:

Diameter of a wheel = 35 cm = 35100'm

Circumference of the wheel = nd

_3B 2
100 7
_ 1o - .
—m—l.lﬂ- Llm
. Distance in one revolution = 1.1 m (b)
Question 48.

ABCD is a rectangle whose three vertices are B (4, 0), C (4, 3) and D (0, 3). The
length of one of its diagonals is

(@) 5

(b) 4

(c)3



(d) 25 [CBSE 2014]

Solution:

Three vertices of a rectangle ABCD are B (4,0), C (4, 3) and D (0, 3) length of one of
its diagonals

BD= {(4-0) +(0-3)" = 4437
= V16+9 = V25 =5 -~ @

Question 49.
Area of the largest triangle that can be inscribed in a semi-circle of radius r units is

- 1
(a) r* sq. units (b) Er’ sq. units
(¢) 27 sq. units (d) /2 P sq. units
Solution:

Take a point C on the circumference of the semi-circle and join it by-the end points of
diameter A and B.

&

r

b B
o >
k= Q08 [by property of circle]

[angle in a semi-circle are right angle]
So, AABC is right angled triangle.

AP

1
. Area of largest AABC = 3 x AB x CD

1
el 3

2
= r? sq units (a)

Question 50.
If the sum of the areas of two circles with radii r, and r; is equal to the area of a



circle of radius r, then

@ r=r+r, (b) ri+ri=r
©)r,+r,<r @ r2+r}i<p
Solution:

According to the given condition,
Area of circle = Area of first circle + Area of second circle.

SRR =qr
= pr=ritrd | (b)

Question 51.
If the sum of the circumference of two circles with radii r, and r2 is equal to the
circumference of a circle of radius r, then

@) r=r+r, () r,+r,>r
) r,tr,<r (d) None of these
Solution:

According to the given condition, Circumference of circle = Circumference of first
circle + Circumference of second circle

- 2nR=2nR, +2nR, )
= R=R,+R, (@)

S

Question 52.

If the circumference of a circle and the perimeter of a square are equal, then

(a) Area of the circle = Area of the square

(b) Area of the circle < Area of the square

(c) Area of the circle > Area of the square

(d) Nothing definite can be said

Solution:

According to the given condition, Circumference of a circle = Perimeter of square 2
mr=4a



[where, r and a are radius of circle and side of square respectively]

= -*,;;“r=2a:w 11r="7a

o _Ta .
= a= ?r=>r~— . (0}

Now, area of circle, A, = nr

[Ta]z 22 494 ;s o
— —_— — »
G T 7 " DremEg()
_ 14d° (i
r ...(if)
and area of square, A, = (a)’ (i)
14
From Egs. (i) and (iif), A, = EAz
LA,
Hence, Area of the circle > Area of the square
(c)
Question 53.

If the perimeter of a circle is equal tothat of a square, then the ratio of their areas
is
(@)22:7
(b) 14 :11
(c)7:22
(d)11:14
Solution:
Let radius of circle be r and side of a square be a
According to the given condition,



Perimeter of a circle = Perimeter of a square
mwr

L2nr=da=a= Y (i)
Area of circle yiig 172

NoW, “Area of square ~ (a)? [m_]z
2
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